PART I

For each of the words in Capital letters, choose from among the answers, the word that is closest in meaning:

(1) MAWKISH

(A) sentimental   (B)true   (C) certain  (D)devious   (E)carefree

(2) MEDIOCRE

(A) average   (B)bitter   (C)medieval   (D)industrial   (E)agricultural

(3) MELEE

(A) Heat   (B)brawl   (C)attempt   (D)weapon   (E)choice

(4) MELLIFLUOUS

(A) porous   (B)honey comb   (C)strong   (D)smooth   (E)viscous

(5) MENIAL

(A) Intellectual   (B) clairvoyant   (C)servile   (D)arrogant   (E)laudatory

(6) MENTOR

(A) guide   (B)genius   (C)talker   (D)philosopher   (E)stylist

(7) MESMERIZE

(A) remember   (B)hypnotize   (C)delay   (D)bore   (E)analyze

(8) METICULOUS

(A) steadfast   (B)recent   (C)quaint   (D)painstaking   (E)overt

(9) MIASMA

(A) Dream   (B) noxious fumes   (C)scenario   (D)quantity   (E)total

(10)  MILITANT

(A) Combative   (B)dramatic   (C)religious   (D)quaint   (E)paternal

For each of the words in Capital letters, choose from among the answers, the closest word that has the opposite meaning:

(11) DIMINUTION

(A) measurement   (B)proximity   (C)augmentation   (D)orderliness   (E)inclination

(12) DISTEND

(A) tell the truth   (B)respond as expected   (C)approximate   (D)collect   (E)shrink
(13) EMBROIL

(A) disengage   (B)remonstrate   (C)refute thoroughly  (D)answer hypothetically   (E) consider genuinely

(14) VOUCHSAFE

(A) postpone   (B)dissemble   (C)endanger   (D)prohibit   (E)justify

(15) JETTISON

(A) salvage   (B)decelerate   (C)muffle   (D) distract  (E)anchor

(16) STOIC

(A) savant   (B)herald   (C)whiner   (D) victor  (E) bystander

(17) GAMELY

(A) fearfully   (B) diligently  (C)clumsily   (D)gloomily   (E)respectfully

(18) CRESTFALLEN

(A) haughty   (B)impolite   (C)frivolous   (D)tentative   (E)rough 

(19) DESULTORY

(A) apologetic   (B)independent   (C)laudatory   (D)questionable   (E)methodical
(20) PULCHRITUDE

(A) antipathy  (B)unsightliness   (C)inexperience   (D)languor   (E)rancor 

Read the following text.  The passage contains some blank spaces.  Choose the sentence from the list A – I, that best fits in each of the blank spaces.  The numbers in brackets  refer to Question numbers.

In a sense the university had failed. It has stored great quantities of knowledge; it teaches more people; and despite its failures, it teaches them better.__D__ . Of the great branches of knowledge- the sciences the social sciences and humanities- the science are applied. Strenuous and occasionally successful efforts are made to apply the social sciences, nut almost never are the humanities well applied. We do not use philosophy in defining our conduct. __E____. The great task of the university in the next generation is to learn to use the knowledge we have for the questions that come before us. __F___ The difference between a primary problem and a secondary or even tertiary problem is that primary problems tend to be around for a long time, whereas the less important ones get solved. 

One primary problem is that of interfering with biological development. ___A____. Obviously, there are benefits both to individuals and to society from eliminating, or at least improving, mentally and physically deformed persons. On the other hand, there could be very serious consequences if this knowledge were used with premeditation to produce superior and subordinate classes, each genetically prepared to carry out a predetermined mission. __B___, Here we have a primary problem that will still exist when we are all dead. Of course, the traditional faculty members would say. “__C____”. And certainly they would not learn, but they would learn some other things. 

A. The next generation, and perhaps this one, will be able to interfere chemically with the actual development of an individual and perhaps biologically by interfering with an individual’s genes.

B. This can be done, but what happens to free will and he rights of the individual

C. But the students won’t learn enough to go to graduate school

D. It is in the application of this knowledge that the failure has come. 

E. We do not use literature as a source of real and vicarious experience.

F. The university should organize should organize courses around primary problems

G. The universities greatest shortcoming is not to help students see the relevance of humanities to real problems.

H. It is difficult for modern students, accustomed to the minute of film, to appreciate opera.

I. It is necessary students to require to include in their curricula liberal arts courses.

In weighting the importance of learning versus instinct in higher animal behavior  psychologists tend to gravitate toward one of the two schools of thought: behaviorism( behaviorist psychology)  or ethology. Classical behaviorism chiefly concerns itself with the study of learning under strictly controlled conditions. Its proponents typically consider instinct irrelevant to learning, and feel it possible to sort the majority of higher animal responses into two kind of learning: classical conditioning and operant conditioning.

Classical conditioning dates to the pioneering experiment of the Russian Physiologist Ivan Pavlov. In Pavlov’s celebrated experiment with dogs, he demonstrated that if one regularly rings a bell right before one gives a dog food, over time the dog will learn to salivate when it hears the bell. According to the Pavlovian world view, three major factors rule most animal behavior: these are the unconditioned stimulus (the innately recognized cue, in this instance, food), the unconditioned response (the innately triggered behavioral act, in this instance, salivation), and the conditioned stimulus (the stimulus the animal is conditioned to respond to, in this case,  the sound of the bell). Initially, Pavlovian behaviorists maintained that they could turn any stimulus an animal could sense into a conditional stimulus, linking it to any unconditioned response.


Operant conditioning is the other principal variety of learning that most behaviorists accept. According to this theory, animals learn a particular behavior pattern by undertaking trial-and error experiments in order to gain a reward or escape a punishment. The classic example of operant conditioning involves an experiment in which a rat learns to press a level to get food. Here the rat’s behavior is conditioned to become increasingly precise until the experimenter finally obtains the wanted response. At first the experimenter rewards the rat for even an incomplete performance of the wanted response: in the experiment’s initial stages, the rat might receive a reward merely for moving toward the section of the care in which the lever is located. Later, to receive its reward, the rat must come closer to the lever, even tough it, until finally the response is perfected and the rat presses the lever top obtain its food. Initially, behaviorists maintained that, by means of operant conditioning, they could teach an animal to respond to any cue or situation with any behavior the animal was physically able to perform.

The ethologist’s view of the world differs markedly from that of the behaviorist psychologist. Pioneered by the biologist-naturalists Konard Lorenz, Nikolaas Tinbergen, and karl Frisch, ethology essentially can be described as the study of instinct. To the ethologist, four factors regulate most animal behavior: these are drive (governing motivational impulses), sign stimuli (cues grasped instinctively, the equivalent of the behaviorist’s unconditioned stimulus), motor programs (inborn responses to cues, the equivalent of the behaviorists unconditioned response), and imprinting (a limited, apparently anomalous kind of learning).

One commonly cited example of instinctive behavior is the egg-rolling response in geese, a behavior studied by Lorenz and Tinbergen. Geese hatch their eggs by brooding over heaped-up nests set on the ground. Occasionally, a brooding goose accidentally knocks an egg out of the nest. Once this has occurred, an extraordinary behavior eventually ensues. Some time after returning to the nest, the goose perceives the stray egg. In response, the goose proceeds to stretch out its neck, focusing its eyes on the eggs; it then stands and, using its bill, gently rolls the egg back into the nest. To the casual observer, this behavior might appear deliberate, a logical response to a difficulty. In actuality, it is unpremeditated and innate. A convex object of any color and almost any size can trigger the egg-rolling response; amusingly enough, beer bottles are especially effective in promoting this response.

How does this example of instinctive behavior illustrate the elements governing animal behavior? The egg-rolling response in geese is governed by a drive that surfaces approximately two weeks before the goose lays its eggs and remains active until approximately two weeks after the eggs hatch. The sign stimuli are the features that trigger the egg-rolling behavior. The ethologists’s motor program is the egg-rolling response itself.  Imprinting is also present in geese: who can forget the image of the trail of newly-hatched gooslings following the retreating naturalist, whose call of “Kum-kum” they instinctively recognize and whom they thenceforth regard as their parent.

(27) The passage is chiefly concerned with

A. Comparing the effectiveness of ethology with that of other behavioral theories  

B. Presenting a new theory to replace ethology and behaviorist psychology

C. Discussing how tow differing schools explain behavioral processes

D. Disputing the hypotheses of Pavlov and other classical behaviorists

E. Explaining the processes that control innate behavior  

(28) 
According to the passage, behaviorist learning theories take into account which of the following characteristics of animals?

I. Their unconditioned response to certain fundamental stimuli , such as food

II. Their ability to learn through being imprinted at an early age.

III. Their tendency to shun negative stimuli

A. I only

B. II only

C. III only

D. I and II only

E. I and III only

(29)
According to the passage, the experimental nature of operant conditioning necessarily involves

A. the exposure to punishment of the subject of the experiment

B. the introduction of increasingly greater rewards by the experimenter 

C. an increasing refinement of behavior o n the part of the experimental animal

D. the use of increasingly subtle cues to trigger the behavioral pattern

E. an unwillingness to accept marginal execution of the wanted behavior

(30)
The author cities Lorenz, Tinbergen, and Frisch for their:

A. Studies of the egg-rolling response in geese

B. Trailblazing work studying instinctual behavior

C. Rejection of imprinting as a form of leaning 

D. Use of stringently controlled laboratory settings

E. Invalidation of the behaviorist approach

(31)
It can be inferred that the goose’s behavior in replacing the egg is “extraordinary” because it 

A. Appears purposeful and intelligent

B. Is triggered by the egg

C. Refutes current ethological theories

D. Is a response to sing stimuli 

E. Lasts for only four weeks

(32)
The tone of the author’s discussion of the egg-rolling response as an example of instinct is one of 

A. Derision

B. Condescension

C. Neutrality

D. Exasperation

E. Enthusiasm

PART II

Q1. 
Fill in the missing number in the sequence  

5   
7  
11 
 ?? 
35        67      

(a)   24  (b)  33  (c) 19   (d) 18  (e) 25

Q2.
In the following series, how many Ws are there such that each W is followed by an C next to it if the C is not followed by a S next to it? 

W    C    W    S    Q    M    W    C    S    M    C    W    C    C    W    Q    M    W    

W    C    Q    W    C    S    C    W    A     M   C    W    C    M

(a)3
(b)
5(c)6
(d)4
(e)7

Q3.
If QMFBTF is coded as PLEASE how will HBJO be coded?


(a)MIND
(b)ALERT
(c)TRIAL
(d) GAIN
(e) BRAVE

Q4.
Suppose the first and second letters in the word CONSTITUTIONAL were interchanged, also the third and fourth letters, the fifth and sixth etc.  Print the letter that would then be the tenth letter counting from the right.

(a)    T 

 (b) I

   (c) N

   (d) O

   (e) U

Q5.
How would the decimal number 520 be represented in a base -7 number System?

 
(a) 1564                    (b) 1234             (c) 1342           (d) 1562         (e) 1672

Q6.
What is the largest prime number that can be stored in an 8-bit word computer?

(a)    199                 (b) 251               (c)   201             (d)     233           (e)  257

Q7.
If n = 10 x 18 x 22, which of the following is NOT an integer?


(a)
n / 132

(b)
n / 55

(c)
n / 45


(d)
n / 20

(e)
n / 78 

Q8.
Which of the following is a power of 3?


a.
2672

b.
2898

c.
2735


d.
2187

e.
2413

Pick the odd one out

Q9.
(a)
ORACLE

(b)
INGRESS
(c)
UNIX



(d)
DB2


(e)        SYBASE

Q10.
(a)
SAP



(b)
HTTP


(c)
WAP


(d)
SMTP



(e)        ARP

Q11.
The three numbers in brackets represent the length of the sides of a triangle. Which of these does not represent a proper triangle?

(a)
(2m,3m,4m)
(b)
(1m,2m,4m)
(c) 
(3m,4m,5m)

(d) 
(3m,3m,3m)     (e) 
(5m,3m,5m)     

Q12.
The three numbers in brackets in each of the following options represents the number of vertices, the number of edges and the number of faces respectively. Find out which of these represents a solid planar cube?

(a)  (4,8,12)
(b)  (8,12,6)
(c)  (8,6,12)
(d)  (8,8,8)   (e)  (12,6,8)

Q13.
Which set of data exhibits a higher Standard Deviation?


(a)
7, 0, -7, 7, 0, -7
(b)
-7, -7, -7, -7, -7, -7 (c)
7, -7, 7, -7, 7, -7   

(d)
7, 7, 7, 7, 7, 7

(e)
7, 7, 7, 0, 7, 7


The three circles below represent the number of people speaking Bengali, Hindi and English. Answer the next three questions based on the diagram
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Q14.
How many more (or less) people speak English than people who speak Hindi?


(a)2
(b)3
(c)4
(d)5
(e) 1

Q15.
What percentage of people speaking Bengali can also speak Hindi but not English?


(a)13
(b) 17.4
(c)16
(d)18
(e)21

Q16.
What percentage of total people can speak all three languages?


(a)4
(b)5
(c)7
(d) 6
(e)9

The figure on the left represents status of manpower and the figure on the right depicts qualification wise distribution for 1998
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Strength (in "00s)
Q17.
Which year has registered the maximum percentage growth?


(a)1996
(b)1998
(c)1994
(d)1686
(e) 1888 

Q18.
What is the average number of people for 1995-1999?

(a) 7700
(b) 6800
(c)8800
(d)4800
(e) 7800

Q19
If 10% of people on the rolls in 1998 left the Company, how many fresh hires were made in 1999


(a)4900
(b) 4600
(c)4700
(d) 4400
(e) 5400

Q20.
A hypothetical physical quantity is defined as:



         (Force X Distance)

       (Velocity X Velocity)


In what fundamental units would this quantity be expressed?


(a) Mass
(b) Time
(c) Velocity
(d) Distance
(e) None

Q21.
Ram can do a piece of work in 15 days and Shyam in 20 days. With the help of Dinesh, they finish the work in 5 days. How long will it take Dinesh to finish the work?


(a)18
(b)24
(c)12
(d)10
(e)15

Q22.
Which of these matrices is singular




    9       15
          33  -5
             1     0
   
10     12


  A =

            B =

    C =

   D = 



    3        5
           6   -1
             1     2

  3       4


(a)A
(b)B
(c)C
(d)D
(e) None

Q23.
Match the following relationships:


(i)
Mammal – Cow

(1)
Not a type of


(ii)
Oven – Building

(2)
Part of


(iii)
Square – Polygon

(3) 
A type of


(iv)
Word – Sentence

(4)
Superset of


(a) i-3,ii-1,iii-4,iv-2
(b) i-4,ii-1,iii-3,iv-2
(c)i-4,ii-1,iii-2,iv-3


(d) i-3,ii-2,iii-1,iv-4
(e) i-1,ii-4,iii-3,iv-2

Q24.
If $ stands for change of sign and # stands for tripling what is the value of 

# $ # (9)  -  $ # $ (9)?

(a)98
(b)108
(c) -108
(d)99
(e)102

Q25.
A sequence is defined recursively as



f(0) = -1;
f(1) = 1



f(n) = f(n-1) - f(n-2)


What will be the value of f(5)?


(a)2
(b)3
(c)-2
(d)1
(e)4

Q26.
What curve best suits the following data:

	X
	Y

	0.99
	0.00001

	10.04
	1.02

	99.98
	1.997

	1000
	3.0

	9990
	4.004



(a) y = logn x
(b) y = log10 x  (c) y = ex   (d) y = -log10 x  (e) y = - ex
Q27.
A Two-dimensional array X(7,9) is stored linearly column-wise in a computer's memory. Each element requires 4 bytes for storage of the value. If the first byte address of X(1,1) is  3000, what would be the last byte address of X(5, 8)?


(a)3245
(b)3445
(c)3215
(d)3655
(e)3125

Q28.
Of the four vectors A,B,C,D find out which pair forms an orthogonal set

 
A =  i+j, B = 3i+2j,  C =  -7i+j, D =  2i-3j


(a)BD
(b)AD
(c)BC
(d)AC
(e)AB

Q29.
Evaluate the expression 

M (373,7) + R (5.8) + T (7.7) - R(3.4) where

M stands for Modulo arithmetic, R stands for Round-off operation and T stands for Truncation Operation

(a)13
(b)16
(c) 12
(d)19
(e)21

Q30.
Three independent mechanisms A, B and C have been incorporated for fuel saving in a car producing respectively 30%, 20% and 40% efficiency. Assuming that they operate independently, what is the net fuel efficiency achieved?

(a)61 %
(b) 64%
(c) 62%
(d) 66.4%
(e) 69%

Q31.
The scores in class exams and final exam of 2 students are given as below:



Class exam

Final exam



3


1.4



3.5


1.65


Find the Class exam score of a student who has scored 6 in the Final exam.


(a)12.2
(b) 13
(c)10.1
(d)10.2
(e)12.5


Q32.
What equation best describes the curve shown below:





Y
(a)y = tan x
(b) y + x = 0
(c) y + 3 = x
(d) y = Cos x
(e) y = ex

Q33.
The temperature at Kochi is given by the function: -t2/6+4t+12 where t is the elapsed time since midnight. What is the percentage rise (or fall) in temperature between 6.00 PM and 9.00 PM?


(a) 35%
(b) 25 %
(c) -25%
(d) 29%
(e) 20%

Q34.
An aircraft takes off from A (0o N Lat, 60o E Long) at 2.00 AM local time to B (32o N Lat, 60o W Long). If the flying time is 8 hours what is the local time of landing at B?

(a) 5.40 AM
(b) 4.00 AM
(c) 2.00 AM
(d) 3.00AM
(e) 8.00AM

Q35.
Fill in the last row of the following Truth Table:

	A
	0
	0
	0
	0
	1
	1
	1
	1

	B
	0
	0
	1
	1
	0
	0
	1
	1

	C
	0
	1
	0
	1
	0
	1
	0
	1

	( A – B )  C
	
	
	
	
	
	
	
	


Interpret the resulting bit pattern as an integer in an 8-bit computer and write the decimal value.


(a)96
(b) 93
(c)98
(d)95
(e)91

Q36.
A file is transferred from one location to another in 'buckets'. The size of the bucket is 10 kilobytes. The bucket gets filled at the rate of 0.0001 kilobytes per millisecond. The transmission time from sender to receiver is 10 milliseconds per bucket. After the receipt of the bucket the receiver sends an acknowledgement that reaches sender in 100 milliseconds. Assuming no error during transmission, write a formula to calculate the time taken in seconds to successfully complete the transfer of a file of size N kilobytes.


(a)11.01 N
(b)10.11 N
(c)10.011 N
(d)11.011 N
(e)10.101 N

Q37.
The memory used by a program is given by the function P(N) = 4000 √N, where N is the size of the program. Find the percentage change in memory usage if the size of the program is increased by 1%.


(a) 0.75%  
(b) 0.5%
(c) 0.25%
(d) 1%  
(e) 2%

Q38.
A telephone cable is to be run from a junction point on the bank of a river 900 meters wide to an office that is located 3000 meters downstream on the opposite bank. If the cost of laying cable under water is Rs. 5 per meter and that of laying overhead on land is Rs. 4 per meter, find the point downstream where the cable is to cut across the river.


(a) 450 
(b) 3900
(c) 2700
(d) 2100
(e) 1800

END OF  PART II

PART III

Read the following passages and answer questions under each passage

(1) 6 school board members – Allenby, Broome, Chatsworth, Doggettt, Edson and Fream are seated at a conference table in the auditorium of Westfield High School, to run a community budget meeting. They take six seats, numbered 1 through 6 from left to right on the same side of the table. However, there has been some tension among the board members during the crisis and this affects the seating.

Allenby has openly clashed with Broome over staff cuts, and cannot be seated immediately to the left or immediately to the right of Broome. Dogget knows about, and so must be immediately to the left of Doggett. Fream knows that the angry head of a tax group will be seated on the right side of the auditorium, so he will not occupy seat 6 at the table.

1. Which of the following board members cannot be seated in seat 1?

(A) Allenby

(B) Broome

(C) Chatsworth

(D) Dogget

(E) Fream

2. If Dogget is seated in seat 3, Chatsworth must be seated in seat:

(A) 1

(B) 2

(C) 4

(D) 5

(E) 6

3. If Allenby is seated in seat 5, which of the remaining board members must be seated in seat 6?

(A) Broome

(B) Chatsworth

(C) Dogget

(D) Edson

(E) Fream

4. If Fream is seated in seat 3, immediately to the right of Doggett, which of the remaining board members must be seated in seat 5?

(A) Allenby

(B) Broome

(C) Chatsworth

(D) Doggett

(E) Edson

(2) 5 executives of a European corporation hold a conference in Rome:

Mr. A converses in Spanish and Italian

Mr. B converses in Spanish and English

Mr. C converses in English and Italian

Mr. D converses in French and Spanish

Mr. E, a native Italian, can also converse in French

1. Which of the following can act as interpreter when Mr. C and Mr. D wish to confer?

(A) Only Mr. A

(B) Only Mr. B

(C) Only Mr. E

(D) Mr. A and Mr. B

(E) Any of the other 3 executives 

2. Which of the following cannot converse without an interpreter?

(A) Mr. B and Mr. E

(B) Mr. A and Mr. B

(C) Mr. A and Mr. C

(D) Mr. B and Mr. D

(E) Mr. A and Mr. E

3. Besides Mr. E, which of the following can converse with Mr. D without an interpreter? 

(A) Only Mr. A

(B) Only Mr. B

(C) Only Mr. C

(D) Messrs. A and B

(E) Messrs. A, B and C

4. If a sixth executive is brought in, to be understood by the maximum number of the original five, he should be fluent in

(A) English and French

(B) Italian and English

(C) French and Italian

(D) Italian and Spanish

(E) English and Spanish

(3) All A’s, B’s, C’s, D’s, E’s, and F’s are Q’s. 

All A’s are B’s. 

No B that is not an A is an F. 

Some C’s are A’s. All D’s are C’s. 

Some C’s are not B’s. 

No D is an A. 

All Q’s and only Q’s that are neither B’s not C’s are E’s.

1. Which of the following can be deduced from the information given?

(A) All F’s are A’s.

(B) Some F’s are A’s.

(C) Some F’s are E’s.

(D) Some F’s are C’s.

(E) All F’s are A’s, C’s, or E’s.

2. Which must be false if the information given is true ?

(A) No D’s are B’s.

(B) Some B’s are D’s.

(C) Some F’s are both B’s are C’s.

(D) Some Q’s are neither B’s nor E’s.

(E) Some F’s are D’s.

3. Which cannot be shown to be true or false on the basis of the information given?

1. No B or C in E.

2. Some C’s are B’s but not A’s.

3. No B is both an A and a D.

(A) 1 Only.

(B) 2 Only

(C) 3 Only

(D) 1 and 2

(E) 2 and 3

4. P is not a B. Which of the following must be true?

(A) P is an E.

(B) If P is a C, it is neither an A nor a D.

(C) If P is a Q, it is an E or a C.

(D) If P is not an E, it is a C.

(E) If P is a Q, it may be a C or an A, but not both.
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